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Вычисли:
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15:3*9-(30:6)=
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Заполни таблицу:

Делимое 54 8 24 63 20
Делитель 9 4 5 9
Частное 9 3 9 6 2
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Задача.

   Из 21 кг свежей малины получается 3 кг 
сухой. Сколько взяли свежей малины, 
если получилось 5 кг сухой?

21:3*5=35(кг)



«Расшифруй слово».

45:9 = П         4 · 6 = Ь      10 : 5 = О       9 · 3 =С

 6 · 2 =К       42:6 = Щ        5 · 3 = Л       24:3 = А          

21:7=Д        5 · 7 = Р
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Задание 3.

I вариант: 7, 14, 21, 28, 35, 42, 49, 56, 63.

II вариант: 24, 25, 26, 27, 28, 29, 30, 31, 32, 
33, 34, 35, 36, 37, 38, 39, 40, 41, 42.


